Harmal - Goa 403524

Examination Fees as per Goa University

T.Y. B. A. B.Ed, T.Y.B.Sc.B.Ed, Fourth Y. B.Sc.B.Ed &

Fourth Y. B.A.B.Ed

Exam Registration Fees	Rs. 380
Ist Appearance Per Paper	Rs. 380
II nd Appearance per Paper	Rs. 640
Practical Exams Fees per Practical	Rs. 485
Statements of Marks	Rs. 100
Exam Form	Rs. 75

Note:-

- 1. The online Form for the Semester End Examination April 2024 is to be filled from 1th March 2024 till 8th March 2024 (05:00 pm) with late Fee Rs. 325/- till 11th March 2024 (NO FURTHER EXTENTION).
- 2. Fees should be paid by the students from 12th March 2024 to 16th March 2024 (05:00 p.m).

(Mr. Hitesh Dessai)

Convener University Examination

Harmal - Goa 403524

Examination Fees

Fourth .Y. B.Sc. B.Ed.

VIII Semester

Exam Registration Fees	Rs. 380
Ist Appearance Per Paper	Rs. 380
Practical Exams Fees Per Practical	Rs. 485
Statements of Marks	Rs. 100
Exam Form	Rs. 75
Maths Group	,
Exams Registration Fees	Rs. 380
Ist Appearance Per Paper @Rs. 380/per, 06 paper	Rs. 2280
Statements of Marks	Rs. 100
Exam Form	Rs. 75
	Rs. 2835

Physics/Chemistry/Zoology/Botany Group

Exams Registration Fees	Rs. 380
Ist Appearance Per Paper @Rs. 380/per, 05 paper	Rs. 1900
Practical Exams Fees @485/Per, 01 Practical	Rs. 485
Statements of Marks	Rs. 100
Exam Form	Rs. 75
	Rs. 2940

Note:-

- 1. The online Form for the Semester End Examination April 2024 is to be filled from 1th March 2024 till 8th March 2024 (05:00 pm) with late Fee Rs. 325/- till 11th March 2024 (NO FURTHER EXTENTION).
- 2. Fees should be paid by the students from 12th March 2024 to 16th March 2024 (05:00 p.m).

(Mr. Hitesh Dessai)

Convener

University Examination

Harmal - Goa 403524

Examination Fees

T .Y. B.Sc. B.Ed.

VI Semester	
Exam Registration Fees	Rs. 380
Ist Appearance Per Paper	Rs. 380
Practical Exams Fees Per Practical	Rs. 485
Statements of Marks	Rs. 100
Exam Form	Rs. 75
Maths Group)
Exams Registration Fees	Rs. 380
Ist Appearance Per Paper @Rs. 380/per, 06 paper	Rs. 2280
Statements of Marks	Rs. 100
Exam Form	Rs. 75
	Rs 2835

Physics/Chemistry/Zoology/Botany Group

Exams Registration Fees	Rs. 380
Ist Appearance Per Paper @Rs. 380/per, 05 paper	Rs. 1900
Practical Exams Fees @485/Per, 01 Practical	Rs. 485
Statements of Marks	Rs. 100
Exam Form	Rs. 75
	Rs. 2940

Note:-

- 1. The online Form for the Semester End Examination April 2024 is to be filled from 1th March 2024 till 8th March 2024 (05:00 pm) with late Fee Rs. 325/- till 11th March 2024 (NO FURTHER EXTENTION).
- 2. Fees should be paid by the students from 12th March 2024 to 16th March 2024 (05:00 p.m).

(Mr. Hitesh Dessai) Convener

University Examination

Harmal - Goa 403524

Examination Fees

T.Y. B. A. B.Ed. VI Semester

Exam Registration Fees	Rs. 380
I st Appearance Per Paper	Rs. 380
Statements of Marks	Rs. 100
Exam Form	Rs. 75

Konkani/English/Hindi/ Marathi/History Group

Exams Registration Fees	Rs. 380
Ist Appearance Per Paper @Rs. 380/per, 06 paper	Rs. 2280
Statements of Marks	Rs. 100
Exam Form	Rs. 75
	Rs. 2835

Geography Group

*	Rs. 2940
Exam Form	Rs. 75
Statements of Marks	Rs. 100
Practical Exams Fees @485/Per, 01 Practical	Rs. 485
Ist Appearance Per Paper @Rs. 380/per, 05 paper	Rs. 1900
Exams Registration Fees	Rs. 380

Note:-

- 1. The online Form for the Semester End Examination April 2024 is to be filled from 1th March 2024 till 8th March 2024 (05:00 pm) with late Fee Rs. 325/- till 11th March 2024 (NO FURTHER EXTENTION).
- 2. Fees should be paid by the students from 12th March 2024 to 16th March 2024 (05:00 p.m).

Mr. Hitesh Dessai Convener

University Examination

Harmal - Goa 403524

Examination Fees

Fourth Y. B. A. B.Ed. VIII Semester

Exam Registration Fees	Rs. 380
Ist Appearance Per Paper	Rs. 380
Statements of Marks	Rs. 100
Exam Form	Rs. 75

Konkani/English/Hindi/ Marathi/History Group

Exams Registration Fees	Rs. 380
Ist Appearance Per Paper @Rs. 380/per, 06 paper	Rs. 2280
Statements of Marks	Rs. 100
Exam Form	Rs. 75
	Rs. 2835

Geography Group

Exams Registration Fees	Rs. 380
Ist Appearance Per Paper @Rs. 380/per, 05 paper	Rs. 1900
Practical Exams Fees @485/Per, 01 Practical	Rs. 485
Statements of Marks	Rs. 100
Exam Form	Rs. 75
	Rs. 2940

Note:-

- 1. The online Form for the Semester End Examination April 2024 is to be filled from 1th March 2024 till 8th March 2024 (05:00 pm) with late Fee Rs. 325/- till 11th March 2024 (NO FURTHER EXTENTION).
- 2. Fees should be paid by the students from 12th March 2024 to 16th March 2024 (05:00 p.m).

Mr. Hitesh Dessai Convener

University Examination

Payment Options

- 1) RTGS/NEFT/Bank Transfer
- 2) UPI
- 3) Pay with-Gpay/Phonepe/Paytm/Bhim app

RTGS/NEFT/Bank Transfer/UPI Payment Bank details

Name	Ganpat Parsekar College of Education
Bank Name	Bank of India
Bank Address	Arambol-Goa
Bank Account No.	104710210000064
IFSC Code	BKID0001047
MICR Code	403013048